Wopk 2 0 A FERE AR AT HiSURIH E A SR

HAL :mg L (XA LX) | pgTEQ/L (XA A F T %)
E 1 2 3 4 5 6 7 8 9 10
T 7 1 e TRHERX HR X HEIX B X SR X BHX X AN Y W PN a1 X
BRI YA < 0.001 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
& < 0.002 0. 006 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.001 < 0.002
ANt T < 0.01 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.005 < 0.01
it < 0.005 0. 005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0. 008 < 0.005
FaKER < 0.0005 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |[< 0.0005 [< 0.0005 — < 0.0005
T L LK ER — — — — — — — < 0.0005 —
PCB — — < 0.0005 | < 0.0005 — < 0.0005 — — < 0.0005 [< 0.0005
Cruanu A& [<0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 — < 0.002
PUEAL R 32 < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 — < 0.0002

gl e-vron=s [ — — < 0.0002 | < 0.0002 — < 0.0002 — — — < 0.0002

gl v ree=Fr [ C0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 — < 0.0002

Helox2vrma=rro [ <0.0002 0.0002 | < 0.0002 0.0051 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 — < 0.0002

Y[ 1 rysom=se | < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 — < 0.0002

H[, 2oty suaxsy — — < 0.0002 | < 0.0002 — < 0.0002 — — — < 0.0002

Hlrvzeo=Fro[< 0. 001 0.001 < 0.001 0. 008 < 0.001 < 0.001 < 0.001 < 0.001 — < 0.001
Lo snnzrro| < 0.0002 0.0002 | < 0.0002 0.26 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 — < 0.0002
1,3-Ys7unrn~sy|  — — < 0.0002 | < 0.0002 — < 0.0002 — — — < 0.0002
T 7T A — < 0.0006 | < 0.0006 — < 0. 0006 — — < 0.0006 | < 0.0006
ey — — < 0.0003 | < 0.0003 — < 0.0003 — — < 0.0003 [< 0.0003
FA X T — < 0.0003 | < 0.0003 < 0.0003 < 0.0003 | < 0.0003
NP < 0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 — < 0.0002
w1 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.001 < 0.002
amtt s RommmeEs | 0,012 4.2 0.19 9.4 < 0.012 0. 59 < 0.012 < 0.012 < 0.02 10
BNY 0.11 0. 40 0.03 < 0.02 < 0.02 < 0.02 < 0.02 0.12 0. 22 < 0.02
ERES 0. 05 2.8 0. 09 0.03 0. 02 0.14 0.03 0.23 0. 37 0. 08
T B LR A — — < 0.0002 — — < 0.0002 — — < 0.0002 —

g T )T HINVT — — < 0.0002 — — < 0.0002 — — < 0.0002 —

;;E”l A TRk A — — < 0.0002 — — < 0.0002 — — < 0.0002 —

=tz — — < 0.0002 — — < 0.0002 — — < 0.0001 —

N — — < 0.0002 — — < 0.0002 — — — —
1,4~ F %% — — < 0.005 — — < 0.005 — — < 0.005 —
A X M — — 0. 084 — — 0. 065 — — — —

E TNy R AR A R T,




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA AxHH)

X 11 12 13 14 15 16 17 18 19 20
T 7E M A HEX KHEX KHX HHAX | #HEHAX | #HEAX B IX Hh P X A X HEX
BRI A < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 0.01 < 0.01 < 0.01 < 0.01
& < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.031 < 0.002 < 0.002 < 0.002
A IZA=PA < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 0.01 < 0.01 < 0.01 < 0.01
[ < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0. 005 < 0. 005 < 0.005 < 0.005
Tk ER < 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 0.0005 [< 0.0005 [< 0.0005 |< 0.0005
7/1/5?/1/7}($E — — — — — — — — —
PCB — — — < 0.0005 — — — — — —
o AHL | <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002
R drES < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 0. 0002 0.0004 [< 0.0002 | < 0.0002

BllL2-vrnnxzsx — — — < 0.0002 — — — — — —

glL,1-vsae=5sr] < 0.0002 [ < 0.0002 [<0.0002 [< 0.0002 |< 0.0002 |[< 0.0002 0.0002 [ < 0.0002 [< 0.0002 |< 0.0002

Hlpxrvraa=r00[C0.0002 [<0.0002 |[<0.0002 |[<0.0002 [<0.0002 |[< 0.0002 0.0002 | < 0.0002 0.0002 | < 0.0002

Y-ty zee=r0]<0.0002 [ < 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 0.0002 [< 0.0002 [< 0.0002 |< 0.0002

2 by smemass [ — — — < 0. 0002 — — — — — —

Hrv 2 ee=zFr o< 0,001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0. 002 0.001 < 0.001
FrsmnzFLo[ < 0.0002 [ < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 0.0018 0. 0002 0. 0002 0.0039 | < 0.0002
L,3-Yrmnrasy|  — — — < _0.0002 — — — — — —

F U7 A — < 0.0006 — —
D — — — < 0.0003 — — — — — —
FF X H VT — — — < 0.0003 — — —

R < 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 0.0002 [< 0.0002 [< 0.0002 |< 0.0002
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002
R oummtEx| 7.6 9.7 3.9 8.1 6.8 5.4 0.012 2.8 8.2 < 0.012
Y < 0.02 < 0.02 0. 02 < 0.02 < 0.02 < 0.02 0. 04 < 0.02 < 0.02 < 0.02
EBES 0. 02 0.07 0. 04 0. 03 0.01 0. 05 0.03 0. 04 0.01 0.03
U a LR A — — — < 0. 0002 — — — — — —

§ T )T HAINVT — — — < 0.0002 — — — — — —

%4’7(’1:'«\“‘/21?;« — — — < 0.0002 — — — — — —

HZR=te 7] — — — < 0.0002 — — — — — —

N — — — <_0.0002 — — — — — —
1,4~ F X9 — — — < 0.005 — — — — — —
EAA XL H — — — 0.063 — — — — — —




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA AxHH)

Fe 2 21 22 23 24 25 26 27 28 29 30
T 7 1 e e e S G X G X TG X TG X JENT X JENT X JENT X
BRI YA < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
& < 0.002 < 0.001 0.014 < 0.002 < 0.002 0. 009 0. 004 < 0.002 < 0.002 < 0.002
ANt T < 0.01 < 0. 005 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 0.001 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 — < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005
T L LK ER — < 0.0005 — — — — — — — —
PCB — < 0.0005 — — < 0.0005 — — — < 0.0005 —
Cruanu K [<0.002 — < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAL R 32 < 0.0002 — < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
gl e-vron=s [ — — — — < 0.0002 — — — < 0.0002 —
gl v ree=Fr [ <C0.0002 — < 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
Hlox1,2vrma=rr0[ < 0.0002 — 0.0005 |[< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 0.0005 [< 0.0002 [< 0.0002
Y[ 1 rysom=se | < 0.0002 — < 0.0002 |< 0.0002 |< 0.0002 0. 0002 0.0004 [< 0.0002 [< 0.0002 [< 0.0002
H[LL2-hysna=sy — — — — < 0.0002 — — — < 0.0002 —
Hrvzeo=Fro[< 0. 001 — < 0.001 0. 002 < 0.001 0. 004 0.011 < 0.001 < 0.001 < 0.001
Lo snnzrro| < 0.0002 — < 0.0002 |< 0.0002 |< 0.0002 0. 0033 0.0016 |[< 0.0002 [< 0.0002 [< 0.0002
,3-v/mrnrsa~y — — — — < 0.0002 — — — < 0.0002 —
T 7T A — < 0.0006 — — < 0.0006 — — < 0. 0006 —
ey — < 0.0003 — — < 0.0003 — — — < 0.0003 —
FA X T < 0.0003 — < 0.0003 — < 0.0003
NP < 0.0002 — < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
w1 < 0.002 < 0.001 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
wmpt R ommmtEk | 0. 16 < 0.02 < 0.012 1.5 8.3 9.7 10 < 0.012 0. 029 0.012
BNY < 0.02 0. 26 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 0.03 0. 08
ERES 0.02 0. 02 0. 09 0.01 0.03 0.01 0.01 0. 02 0. 04 0. 02
T B LR A — < 0.0002 — — — — — — < 0.0002 —
§ T )T HNT — < 0.0002 — — — — — — < 0.0002 —
;;E”l A TRk A — < 0.0002 — — — — — — < 0.0002 —
=tz — < 0.0001 — — — — — — < 0.0002 —
N — — — — — — — — < 0.0002 —
1,4~ F %% — < 0.005 — — — — — — < 0.005 —
A X M — — — — — — — — 0. 062 —




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA AxHH)

Fe 2 31 32 33 34 35 36 37 38 39 40
T 7 1 e T Al X T Al X LAENX | AN | NEFH | NEFH | NEFH | NEFH | NEFH ST
BRI YA < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.01
& < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 005 < 0.002 < 0.002 < 0.002 < 0.002
ANt T < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
FaKER < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
7/1/5?/1/7}<$E — — — — — — — — —
PCB < 0.0005 — — — — — < 0.0005 — — —
o AHL | <0.002 < 0.002 < 0.002 < 0.002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.002
PUEAL R 32 < 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 0. 0003
gzl 2-v 7 na=s 10,0002 — — — — — < 0.0002 — — —

Bl 1-vsoe=5r0] < 0.0002 | < 0.0002 | < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 0.0004 [< 0.0002 [< 0.0002 |< 0.0002

Hloxt2vraa=ro[ < 0.0002 [ < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 0. 0003

Yl -ty zemzse [ <€ 0.0002 [ < 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002

W12 rvzaa=ze [ < 0.0002 — — — — — < 0.0002 — — —

Hrv 2 ee=zFr o< 0,001 < 0.001 < 0.001 < 0.001 < 0.001 0. 002 0. 002 0. 004 < 0.001 < 0.001
FhosnnxFro[ < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
1,3-v7unra~<| < 0.0002 — — — — — < 0.0002 — — —

T 7T A < 0.0006 — — — < 0.0006 — —
ey < 0.0003 — — — — — < 0.0003 — — —

F A~ H 7 | < 0.0003 — — < 0.0003 — —
NP < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
w1 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
wmrt kR ommmtEk | 0. 18 0. 56 < 0.012 < 0.012 5.7 2.0 6.0 5.8 0.12 1.8
BNY 0.07 0.03 < 0.02 0.11 0. 06 0. 05 0. 02 0. 02 0.03 < 0.02
ERES 0. 04 0. 04 0.15 0. 20 0.03 0. 02 0.01 < 0.01 0.01 0.01
U B LR A — — — — — — < 0.0002 — — —

§ T )T HNT — — — — — — < 0.0002 — — —

%”/% A FaRF A — — — — — — < 0.0002 — — —

5 Jajr=ra’xz — — — — — — < 0.0001 — — —

N — — — — — — 0. 0002 — — —
1,4~ F %% — — — — — — 0. 0009 — — —
A X M — — — — — — 0. 062 — — —




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA AxHH)

Fe 2 41 42 43 44 45 46 47 48 49 50
T 7 1 e ST R T —JE ki ST Y= AR T W] FH T T T T T
BRI YA < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.1 < 0.1 < 0.1
& < 0.001 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.005 < 0.005 < 0.005
ANt T < 0. 005 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.04 < 0.04 < 0.04
it < 0.001 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
FaKER < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005
7 L% )L KGR — — — — — — — < 0.0005 |< 0.0005 |< 0.0005
PCB < 0.0005 — — — — — — — — < 0.0005
Cruau A [<0.0002 [<0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAL R 32 < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
gzl 2-v 7 oe= s [<0.0002 — — — — — — — — < 0. 0004
gL, 1-v o= < 0.0002 [ < 0.0002 [<0.0002 [<o0.0002 [<0.0002 |[< 0.0002 |< 0.0002 |< 0.002 < 0.002 < 0.002
Hloxt2vraa=r0[ < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 |[< 0.004 < 0.004 < 0.004
Y[ 1 rysom=se | < 0.0002 0.0003 |[< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0005 [< 0.0005 [< 0.0005
W12 rvzaa=ze [ < 0.0002 — — — — — — — — < 0. 0006
Hlrvzaexzsro[<0.0002 [<0.001 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.002 < 0.002 < 0.002
Lo snnzrro| < 0.0002 0. 005 0.0012 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0005 |< 0.0005 |< 0.0005
1,3-v7unra~<| < 0.0002 — — — — — — — — < 0.0002
T 7T A < 0.0006 — — — — < 0. 0006
ey < 0.0003 — — — — — — — — < 0.0003
F A~ H 7 | < 0.0003 — — — — — — < 0.002
NP < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 [< 0.001 < 0.001 < 0.001
w1 < 0.001 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
kxR ommmeEs| 3.5 8.1 8.2 4.3 2.6 2.5 0. 74 0.21 3.6 1.5
BNY 0.07 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.08 < 0.08 < 0.08
ERES 0. 02 0. 02 0.01 0.03 0.03 0. 02 0.01 < 0.02 < 0.02 < 0.02
T B LR A — — — — — — — — — < 0.0008
§ T )T HNT — — — — — — — — — < 0.003
%4’7(’1:'«\“‘/21?;« — — — — — — — — — < 0.0008
Igﬁm/l/:]\m7;:‘/ — — — — — — — — — < 0.0008
N — — — — — — — — — < 0.06
1,4~ F %% — — — — — — — — — < 0.005
A X M — — — — — — — — — 0. 062




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA Ax HH)

Fe 2 51 52 53 54 55 56 57 58 59 60
T 7 1 e N N ] BRI H B g [ BT LT [E 5 <F EvAL R AT W FNTH
BRI YA < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
& < 0.002 < 0.002 < 0.002 < 0.001 < 0.002 0.003 < 0.002 < 0.002 < 0.002 < 0.002
ANt T < 0.01 < 0.01 < 0.01 < 0. 005 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.001 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
FaKER < 0.0005 |< 0.0005 |< 0.0005 |[< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |[< 0.0005 [< 0.0005 |< 0.0005
7/1/5?/1/7}<$E — — — — — — — —
PCB < 0.0005 — < 0.0005 | < 0.0005 — < 0.0005 — < 0.0005 [< 0.0005 —
Cruanu K [<0.002 < 0.002 < 0.002 < 0.0002 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAL R 32 < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
gzl 2-v 7 oe= s [<0.0002 — < 0.0002 | < 0.0002 — < 0.0002 — < 0.0002 | < 0.0002 —
g, 1-vr7ae=7r]<C0.0002 [<0.0002 [<0.0002 [<o0.0002 [<o0.0002 [<0.0002 [< 0.0002 |< 0.0002 |< 0.0002 0.0012
Hloxt2vraa=ro[ < 0.0002 [ < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 0. 0031
Y[ 1 rysom=se | < 0.0002 0.0008 |[< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 0. 0004 0. 0003 0. 0006
[, 1,2 hysem=so [ <0, 0002 — < 0.0002 | < 0.0002 — < 0.0002 — < 0.0002 | < 0.0002 —
Hrvzeo=Fro[< 0. 001 < 0.001 < 0.001 < 0.0002 | < 0.001 < 0.001 < 0.001 < 0.001 0.001 0. 007
Lo smuzFr|  0.0008 0.0034 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 0.0016 0. 0003 0. 0026 0. 0005
1L,3-vzuanras| < 0. 0002 — < 0.0002 | < 0.0002 — < 0.0002 — < 0.0002 | < 0.0002 —
T 7T A < 0.0006 < 0.0006 | < 0.0006 < 0. 0006 — < 0.0006 | < 0.0006 —
ey < 0.0003 — < 0.0003 | < 0.0003 — < 0.0003 — < 0.0003 | < 0.0003 —
F A~ H 7 | < 0.0003 — < 0.0003 | < 0.0003 — < 0.0003 — < 0.0003 | < 0.0003 —
NP < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
w1 < 0.002 < 0.002 < 0.002 < 0.001 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
e ) 7.6 0. 22 3.5 3.5 9.2 4.3 5.1 14 3.1
BNY < 0.02 < 0.02 < 0.02 0. 09 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
ERES 0.01 0. 02 0.01 0.03 0.01 0.01 0.03 0. 02 0. 04 0. 02
T B LR A < 0.0002 — — — — — — — — —
§ 7= )77 | < 0.0002 — — — — — — — — —
%4’7(’1:'«\“‘/21?;« < 0.0002 — — — — — — — — —
rElz =7 = [<0.0002 — — — — — — — — —
N < 0.0002 — — — — — — — — —
1, 4=V A %9 [ < 0.005 — — — — — — — — —
A X M 0. 062 — — — — — — — — —




HAT

mg L (FAAFT U HEERLS) | peTEQ L (XA AxHH)

E 61 62 63 64 65 66 67 68 69 70
T E Hh A TEWET | RARCKT | )UsATILT | 2B b i PIFFTH HE 28| PEHEARTH B AT H o HilT
BRI YA < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
& < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ANt T < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
FaKER < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005
7/1/5?/1/7}<$E — — — — — — — — — —
PCB — — — — < 0.0005 — — — — < 0.0005
Cruanu K [<0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAL R 32 < 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 [< 0.0002 |< 0.0002
gl e-vroo=s | — — — — < 0.0002 — — — — < 0.0002
gl v ree=Fr [ <C0.0002 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002
Helox2vrma=rro [ <0.0002 0. 0003 0.0007 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
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